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OGS Al 22l H & (o) FegAdF M2 1=
2,000,000& = 2IH Ak * 33 12,000
OZANAHEHEAR 2Dy 23 24
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OZAAHEAAS 12,300
— &A= (0l=2g) 70,0008 * 16 *~ 63 6,720
— A 2AM2 ZUE)
30,0003 = 169 * 62 2,880
— A0 90,0008 = 5% * 63l 2,700
02 =524t 33,700 11,700 22,000
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11,700,000& * 14 11,700
OZAMAIEXNA 0B RXE=+
22,000,000& * 14 22,000
202 o4 Hl 25,920 25,920 0
01 2LHO! | 25,920 25,920 0
OZANAE= FQANY 2 =3
90,000& = 12& » 2¢& = 128 25,920
203 222l 9,950 9,000 950
03 Al =P R=AHI 9,950 9,000 950
OFQAE SotAY =& 2,300,000 * 14 2,300
O=&H&A=a g2 =& 1,800,000& * 14 1,800
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ORYOSS(SEMBE) NS(FUE 2 17)
1,969,960& * 128 23,640
ORYoSZ(=2AER) XS (H2E, gFS)
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OJg28 FU ZAHEEZ =SEIA
1,000,000 * 250m * 0.72/100 1,800
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OQEIIEE F&Al &ol XI=Hl
300,000& = 10A 3,000
401 AIEHI L 2 0] 400,000 1,550,000 A 1,150,000
01 A& Bl 397,660 1,540,280 A 1,142,620
OAIJMXI 21 2188+
1,000,000 = 20024 * 99.28/100 198,560
O2Jlg S =8 AZHHISA
200,000& * 500m * 99.10/100 99,100
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500,000& = 200m 100,000
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01 A& HI 68,000 68,000 0
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Og=xs 20 9¢ Ecl £X
15,000,000& * 14! 15,000
O=235te Hel KAHe(BEE2, 24U,
x& 8) 10,000,000& * 14! 10,000
CI Xtel el 1,729,850 1,723,486 6,364
s 608,000
< 500,000
Al 621,850
CIXtolzte] 121,850 923,486 A 801,636
201 LB-2dH| 18,720 42,350 A 23,630
01 At 2t 2l 13,920 28,440 A 14,520
OZ230Xe(Ax) UAHEI} slo&FA ¢ 7,200
— Sl 30,000& = 1H * 48 123 1,440
— AL Hl 20,000 = 1H * 4 123 960
-
70,000& = 1H * 4 123 3,360
— NEAELY
30,000 = 1H * 424 * 123 1,440
OZ&82d= Zstol&A 3t =¥ 6,720
— 2= 50,000& = 1H * 83 » 123 4,800




2AM:
AN (ZEL X E o/

el

X ZH
S =

S A

Cl Xtel2tel

KL Al)

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
— WSl 20,000& = 1H * 83 » 123 1,920
02 =224l 4,800 4,800 0
OIS 4,800
FEANT SANBS ®II23
300,000& = 12& 3,600
—SREAUEZ ZEMG(R.ZHEAMZ) &I
23 100,000& » 12& 1,200
207 A& H| 48,000 330,000 A 282,000
01 A2 ESHHI 48,000 330,000 A 282,000
OZ2AS QUAAE 223
18,000,000& * 14 18,000
OZANAUE MRAIY &2 A3 Ed
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—Jl=s 74,9483 + 18 » 251 18,812
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OZAMY 83It s (IFAY)
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OZANMM AIEE SIS (E2MWESE , A X2
AR, 2UHI A E 2 S MAIEHAES
A) 20,000,000 = 14l 20,000
(RVFHAXNGHE(EA(ESRMEDE) 1,317,000 1,301,000 16,000
g 923,000
& 119,000
Al 275,000
201 gEt24Hy| 29,528 10,000 19,528

01 At 22l 29,528 10,000 19,528
0

FEAY 2OUI0IYH gs+%
367,654 » 45| » 1H = 128 17,648

OMZ0tSANE &3t =¢

90,000& = 113 * 1H * 123 11,880
207 & 51 JH & H| 40,000 90,000 A 50,000
01 27329l 40,000 90,000 /50,000
OSX MS0tSAY 2t (A HLH
W, BIHY, JISstAY) 40,000
20,000,000& = 23l
307 glztol & 15,000 0 15,000
02 It HAMAEE 15,000 0 15,000
OFUAUSIAIL (A & EE &)
15,000,000& * 14 15,000




=N
D AN 2ELX Y /XL A
O ALTH A

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
401 Al& Bl & 28I 972,472 1,151,000 A 178,528
s 923,000
Al 49,472
01 A& HI 966,345 1,151,000 A 184,655
OFA MS0tSAY
972,471,0002 * 99.37/100 966,345
s 923,000
Al 43,345
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Al ,863,000
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OZAMM=EY RCIUIOIH 2%
367,6543 * 43| = 19¥ » 12& 17,648
OEMNd=E &30t 25+E
90,000& = 113 = 1¥ = 12& 11,880
OHEAIE 2ZHIE +2 10,000,000& * 14 10,000
207 Ao 276,543 100,000 176,543
01 Pl 276,543 100,000 176,543
OgatEdl oM Xl SAIMASY XAk
tu= 257,543,000& * 14 257,543
O dtsdl CloIM Xl SAIMHA SLASY IS5
29 19,000,000& * 14 19,000
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s 2,000,000
< 333,000
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O=2&83 =&ZHA === 1,200,000& * 43 4,800
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3,000,000& = 24l 6,000
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500,000& = 34l 1,500
Oti=&8= =%2/(30Hp&) 2,000,000& = 1CH 2,000
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10,000,000 * 14 10,000
O2& =% Hi+=X WEWX(1,200€)
2,000,000& = 14! 2,000
O&2+EZ WAl £ %2l (30HpE)
3,000,000& = 14! 3,000
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10,000,000& * 14 10,000
202 A2 (ZELXNSEML/XNALZAI) 84,856 82,520 2,336
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—Z2H EUH(EH) 200,000& * 53 = 504 5,000
— T2 E4 (&) 200,000& * 53 = 104 1,000
—PC =¢cl 100,000& = 21CH = 20/100 420
— JIEt =2l 50,000& = 12& 600
OJIE AFR2t2lH] 5,000& * 218 » 12& 1,260
202 odl 86,940 99, 360 212,420
01 = LH o4 1l 86,940 99, 360 212,420
OZAL A2 =& Kl 86,940
— 2L bl 20,000& = 219 = 12 » 12& 60,480
— 220l 90,0003 = 21H » 14« 26,460
203 Y2 F Y| 7,500 7,500 0
01 J|22F P2 =8| 3,300 3,300 0
OZANHEZZ J22F S F=AHI
3,300,000& = 14H 3,300
04 EAN2I LRI 4,200 4,200 0
ORN2IYSF=AHI 350,000& = 12& 4,200
204 X2 LAY 5,400 5,400 0
01 Mg 5,400 5,400 0
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